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3 A3} 22 aFo] ¥ g vlg ouix], & ZAFRGAE] dRbEQ A7 e E B 9
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£2 38 (h=92) | ¥2 18 (n=8b)
EZYAHE (ng/dl) 171.7 £ 27.0" 1726 + 26.6
SR (ng/dl) 733+ 351 723 +26.6
HDL-ZABIE (me/dl) | 70.3 £ 12,97 671+ 116
LDL-ZSAHE (mg/dl) 1221+ 282 1199+ 272
A2 1605 1605

1)Mean *+ SD
2) B3} 3 (AL: Atherogenicindex)
“Test 2% 5 kel 28 tol} &

128 22 4s.QQ

ATAT $42 Wl AT Zo| A 4
Zol Wlal A4 AAGe] ERSE BT
A4 w70 Aol7t golem o3d ¢
el 48 20 9344 7 42 2
@ HDL-dedgel £ A2 2049
Ach. B 9% HDL-BA2HE 45 99

Jo Jo Ry
o m\m o
of¥

SIS 992 $AT Fs 9aT vad. B
% 9 gk B, A% Aeld ol 4BE
29 02 o} o|F FFid FAYFolga
£ 4 g $RE o2 oF 8 22
¢ 97} gk 59 & a7 ¥ 35T

A Hd R R AAF QHF’)“’] 419.4g°l

o} 93} =2 (Al : atherogenic index)
dA] 1.69) @2 #& HAoma JUSo| 5F

27 A= 78 71802 v 974
sloj ojgt AP AA DG TP o] wobd A
OF Holx] gerh. 2HER I 4UAe ¥
¢ 9 AN E AR5 Hsﬂ/\ 5ol 27t
= 8 ¥ v RS AT 8ot
AT},



